		BaseLine Item Detail	Carbro Const	ructors Corp.	J. Fletcher Crea	amer & Son, Inc.	New Prince Concrete C	Construction Co., Inc.	Sparwick Co	ntracting, Inc.	Joseph M. S	anzari, Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price L	ine Total	Unit Price	Line Total	Unit Price L	ine Total
1 104-0001	1 L.S.	Construction Layout	\$64,300.00	\$64,300.00	\$75,000.00	\$75,000.00	\$125,000.00	\$125,000.00	\$45,000.00	\$45,000.00	\$275,000.00	\$275,000.00
2 104-0002	1 L.S.	Mobilization	\$848,300.00	\$848,300.00	\$1,500,000.00	\$1,500,000.00	\$1,700,000.00	\$1,700,000.00	\$1,030,000.00	\$1,030,000.00	\$853,649.00	\$853,649.00
3 107-0001	1 L.S.	Progress Schedule	\$45,300.00	\$45,300.00	\$17,500.00	\$17,500.00	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00
4 108-0001	8,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00
5 108-N0004	8,000.00 USD	Steel Price Adjustment (No-Bid)	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00
6 201-0002	1 L.S.	Clearing and Grubbing	\$400,000.00	\$400,000.00	\$125,000.00	\$125,000.00	\$400,000.00	\$400,000.00	\$575,000.00	\$575,000.00	\$252,759.00	\$252,759.00
7 202-0002	7,769.00 C.Y.	Roadway Excavation, Earth	\$20.00	\$155,380.00	\$30.00	\$233,070.00	\$60.00	\$466,140.00	\$40.00	\$310,760.00	\$78.00	\$605,982.00
8 202-0007	4,000.00 C.Y.	Stripping Topsoil	\$2.50	\$10,000.00	\$10.00	\$40,000.00	\$30.00	\$120,000.00	\$40.00	\$160,000.00	\$30.00	\$120,000.00
9 202-0009	200,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00
10 203-0001	6,345.00 C.Y.	Embankment, Common	\$45.00	\$285,525.00	\$12.00	\$76,140.00	\$40.00	\$253,800.00	\$50.00	\$317,250.00	\$24.00	\$152,280.00
11 203-0004	69 C.Y.	Porous Fill Controlled Low Strongth Material	\$200.00	\$13,800.00	\$150.00	\$10,350.00	\$150.00	\$10,350.00	\$70.00	\$4,830.00	\$99.00	\$6,831.00
12 203-N0002 13 205-0002	980 C.Y. 13 C.Y.	Controlled Low Strength Material Coarse Aggregate Layer	\$300.00 \$90.00	\$294,000.00 \$1,170.00	\$190.00 \$400.00	\$186,200.00 \$5,200.00	\$265.00 \$150.00	\$259,700.00 \$1,950.00	\$200.00 \$100.00	\$196,000.00 \$1,300.00	\$250.00 \$290.00	\$245,000.00 \$3,770.00
14 207-0004	10 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$230.00	\$2,300.00	\$100.00	\$1,000.00	\$500.00	\$5,000.00
15 207-0005	265 Ton	Riprap Stone Aprons, 1211 Thick(D50=011)	\$150.00	\$39,750.00	\$275.00	\$72,875.00	\$230.00	\$60,950.00	\$100.00	\$26,500.00	\$170.00	\$45,050.00
16 207-N0008	80 Ton	Riprap Stone Scour Hole, 24in Thick (D50=12in)	\$185.00	\$14,800.00	\$275.00	\$22,000.00	\$230.00	\$18,400.00	\$100.00	\$8,000.00	\$170.00	\$14,400.00
17 207-N0014	20 C.Y.	Gabion Drop Structure	\$1,100.00	\$22,000.00	\$1,200.00	\$24,000.00	\$785.00	\$15,700.00	\$650.00	\$13,000.00	\$1,500.00	\$30,000.00
18 208-0006	30 C.Y.	Hay Bales	\$15.00	\$450.00	\$55.00	\$1,650.00	\$50.00	\$1,500.00	\$50.00	\$1,500.00	\$190.00	\$5,700.00
19 208-0008	8,900.00 L.F.	Heavy Duty Silt Fence	\$18.00	\$160,200.00	\$12.00	\$106,800.00	\$7.25	\$64,525.00	\$5.00	\$44,500.00	\$15.00	\$133,500.00
20 208-0013	45 L.F.	Floating Turbidity Barriers	\$200.00	\$9,000.00	\$125.00	\$5,625.00	\$100.00	\$4,500.00	\$60.00	\$2,700.00	\$87.00	\$3,915.00
21 208-0022	41 Each	Inlet Filter, Type 2	\$50.00	\$2,050.00	\$200.00	\$8,200.00	\$100.00	\$4,100.00	\$100.00	\$4,100.00	\$220.00	\$9,020.00
22 208-0024	2,085.00 Ton	Construction Driveway	\$165.00	\$344,025.00	\$65.00	\$135,525.00	\$105.00	\$218,925.00	\$50.00	\$104,250.00	\$50.00	\$104,250.00
23 208-N0001	9 Each	Concrete Washout Facility	\$1,500.00	\$13,500.00	\$2,000.00	\$18,000.00	\$2,000.00	\$18,000.00	\$2,000.00	\$18,000.00	\$490.00	\$4,410.00
24 208-N0002	32 Each	Sediment Control Bags	\$150.00	\$4,800.00	\$100.00	\$3,200.00	\$300.00	\$9,600.00	\$1.00	\$32.00	\$340.00	\$10,880.00
25 208-N0009	10 Each	Oil-Only Emergency Spill Kit, Type 1	\$1,100.00	\$11,000.00	\$1,250.00	\$12,500.00	\$1,500.00	\$15,000.00	\$120.00	\$1,200.00	\$1,440.00	\$14,400.00
26 208-N0016	1 L.S.	Stream Diversion - Location No. 1	\$221,908.00	\$221,908.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$950,000.00	\$950,000.00	\$200,000.00	\$200,000.00
27 208-N0017	1 L.S.	Stream Diversion - Location No. 2	\$18,000.00	\$18,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$249,000.00	\$249,000.00	\$70,000.00	\$70,000.00
28 208-N0018	1 L.S.	Stream Diversion - Location No. 3	\$225,372.00	\$225,372.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$950,000.00	\$950,000.00	\$120,000.00	\$120,000.00
29 208-N0019	1 L.S.	Stream Diversion - Location No. 4	\$78,000.00	\$78,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$850,000.00	\$850,000.00	\$60,000.00	\$60,000.00
30 208-N0023	1 L.S.	Stream Diversion - Location No. 5	\$100,781.00	\$100,781.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$850,000.00	\$850,000.00	\$60,000.00	\$60,000.00
31 211-0001	4,010.00 L.F.	Temporary Orange Plastic Fence	\$5.00	\$20,050.00	\$15.00	\$60,150.00	\$5.00	\$20,050.00	\$1.00	\$4,010.00	\$2.00	\$8,020.00
32 211-N0001 33 213-0002	1,340.00 L.F.	Turtle Fence	\$20.00 \$85.00	\$26,800.00 \$237,235.00	\$15.00	\$20,100.00 \$111,640.00	\$46.00 \$65.00	\$61,640.00 \$181,415.00	\$5.00 \$61.00	\$6,700.00 \$170,251.00	\$23.00 \$40.00	\$30,820.00 \$111,640.00
34 302-0004	2,791.00 Ton 3,555.00 Ton	Disposal of Regulated Material Hot Mix Asphalt 25M64 Base Course	\$222.00	\$789,210.00	\$40.00 \$200.00	\$711,000.00	\$135.00	\$479,925.00	\$61.00 \$210.00	\$746,550.00	\$200.00	\$711,000.00
35 302-0063	8,000.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00
36 302-N0007	585 GAL	Trackless Tack Coat	\$1.00	\$585.00	\$30.00	\$17,550.00	\$10.00	\$5,850.00	\$5.00	\$2,925.00	\$1.00	\$585.00
37 303-0001	1,620.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$36.00	\$58,320.00	\$70.00	\$113,400.00	\$28.00	\$45,360.00	\$23.00	\$37,260.00	\$23.00	\$37,260.00
38 401-0012	39 C.Y.	Concrete in Wingwall	\$7,600.00	\$296,400.00	\$3,600.00	\$140,400.00	\$3,000.00	\$117,000.00	\$750.00	\$29,250.00	\$1,800.00	\$70,200.00
39 401-0032	20 C.Y.	Concrete In Footings	\$1,600.00	\$32,000.00	\$1,650.00	\$33,000.00	\$1,275.00	\$25,500.00	\$500.00	\$10,000.00	\$1,000.00	\$20,000.00
40 401-0035	577 Each	Drill and Grout Reinforcement Bars	\$70.00	\$40,390.00	\$65.00	\$37,505.00	\$10.00	\$5,770.00	\$20.00	\$11,540.00	\$40.00	\$23,080.00
41 401-0067	3,880.00 LB	Reinforcement Steel, Epoxy Coated	\$6.00	\$23,280.00	\$6.00	\$23,280.00	\$3.00	\$11,640.00	\$2.00	\$7,760.00	\$3.00	\$11,640.00
42 401-N0005	6,368.00 C.F.	Grout	\$15.00	\$95,520.00	\$35.00	\$222,880.00	\$23.00	\$146,464.00	\$28.00	\$178,304.00	\$20.00	\$127,360.00
43 410-0001	220 S.Y.	Damp-proofing	\$22.00	\$4,840.00	\$60.00	\$13,200.00	\$50.00	\$11,000.00	\$1.00	\$220.00	\$25.00	\$5,500.00
44 415-0001	4,385.00 S.F.	Temporary Sheeting	\$11.00	\$48,235.00	\$30.00	\$131,550.00	\$220.00	\$964,700.00	\$35.00	\$153,475.00	\$80.00	\$350,800.00
45 417-0013	76 S.F.	Spall Repair, Type 1	\$600.00	\$45,600.00	\$750.00	\$57,000.00	\$650.00	\$49,400.00	\$250.00	\$19,000.00	\$300.00	\$22,800.00
46 418-N0093	1 L.S.	Temporary Support, Location No. 1	\$2,500.00	\$2,500.00	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00
47 418-N0095	1 L.S.	Temporary Support, Location No. 3	\$2,500.00	\$2,500.00	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
48 418-N0096	1 L.S.	Temporary Support, Location No. 4	\$2,500.00	\$2,500.00	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00	\$12,500.00	\$12,500.00	\$20,000.00	\$20,000.00
49 418-N0120	1 L.S.	Temporary Support, Location No. 5	\$2,500.00	\$2,500.00	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00	\$12,500.00	\$12,500.00	\$20,000.00	\$20,000.00
50 499-N0151 51 499-N0153	225 L.F.	Install Steel Arch Pipe Liner, Location No. 1 Install Steel Arch Pipe Liner, Location No. 3	\$2,250.00	\$506,250.00	\$1,400.00	\$315,000.00	\$2,000.00	\$450,000.00	\$850.00	\$191,250.00	\$2,900.00	\$652,500.00
51 499-N0153 52 499-N0154	270 L.F. 85 L.F.	Install Steel Arch Pipe Liner, Location No. 3 Install Steel Arch Pipe Liner, Location No. 4	\$1,950.00 \$950.00	\$526,500.00 \$80,750.00	\$1,400.00 \$2,100.00	\$378,000.00 \$178,500.00	\$2,000.00 \$2,000.00	\$540,000.00 \$170,000.00	\$780.00 \$900.00	\$210,600.00 \$76,500.00	\$3,100.00 \$2,300.00	\$837,000.00 \$195,500.00
52 499-N0154 53 499-N0155	85 L.F. 570,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 1 (No-Bid)	\$950.00	\$570,000.00	\$2,100.00	\$178,500.00	\$2,000.00 \$1.00	\$170,000.00	\$900.00		\$2,300.00 \$1.00	\$570,000.00
54 499-N0157	650,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 1 (No-Bid) Furnish Steel Arch Pipe Liner, Location No. 3 (No-Bid)	\$1.00	\$650,000.00	\$1.00	\$650,000.00	\$1.00 \$1.00	\$650,000.00	\$1.00	\$570,000.00 \$650,000.00	\$1.00 \$1.00	\$650,000.00
55 499-N0158	265,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 3 (No-Bid)	\$1.00	\$265,000.00	\$1.00	\$265,000.00	\$1.00 \$1.00	\$265,000.00	\$1.00	\$265,000.00	\$1.00 \$1.00	\$265,000.00
56 499-N0193	92 L.F.	Install Steel Arch Pipe Liner, Location No. 5	\$900.00	\$82,800.00	\$1,900.00	\$174,800.00	\$2,000.00	\$184,000.00	\$950.00	\$87,400.00	\$2,100.00	\$193,200.00
57 499-N0194	335,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 5 (No-Bid)	\$1.00	\$335,000.00	\$1,900.00	\$335,000.00	\$1.00	\$335,000.00	\$1.00	\$335,000.00	\$1.00	\$335,000.00
58 502-0005	173 L.F.	15 in Reinforced Concrete Pipe, Class III	\$200.00	\$34,600.00	\$240.00	\$41,520.00	\$85.00	\$14,705.00	\$112.00	\$19,376.00	\$105.00	\$18,165.00
59 502-0006	220 L.F.	18 in Reinforced Concrete Pipe, Class III	\$220.00	\$48,400.00	\$200.00	\$44,000.00	\$100.00	\$22,000.00	\$115.00	\$25,300.00	\$420.00	\$92,400.00
60 502-0011	10 L.F.	30 in Reinforced Concrete Pipe, Class III	\$900.00	\$9,000.00	\$500.00	\$5,000.00	\$200.00	\$2,000.00	\$135.00	\$1,350.00	\$240.00	\$2,400.00

		BaseLine Item Detail	Carbro Cons	tructors Corp.	J. Fletcher Crea	amer & Son, Inc.	New Prince Concrete 0	Construction Co., Inc.	Sparwick Con	ntracting, Inc.	Joseph M. S	anzari, Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price I	Line Total	Unit Price	Line Total I	Jnit Price L	ine Total
61 502-0012	20 L.F.	36 in Reinforced Concrete Pipe, Class III	\$833.00	\$16,660.00	\$500.00	\$10,000.00	\$300.00	\$6,000.00	\$170.00	\$3,400.00	\$750.00	\$15,000.00
62 502-0013	656 L.F.	48 in Reinforced Concrete Pipe, Class III	\$325.00	\$213,200.00	\$420.00	\$275,520.00	\$425.00	\$278,800.00	\$292.00	\$191,552.00	\$800.00	\$524,800.00
63 502-0014	176 L.F.	18 In Reinforced Concrete Pipe, Class V	\$225.00	\$39,600.00	\$165.00	\$29,040.00	\$105.00	\$18,480.00	\$85.00	\$14,960.00	\$270.00	\$47,520.00
64 502-0028	130 L.F.	42 In Reinforced Concrete Pipe, Class III	\$350.00	\$45,500.00	\$355.00	\$46,150.00	\$350.00	\$45,500.00	\$224.00	\$29,120.00	\$310.00	\$40,300.00
65 502-0036	145 L.F.	54 in Reinforced Concrete Pipe, Class III	\$475.00	\$68,875.00	\$485.00	\$70,325.00	\$500.00	\$72,500.00	\$350.00	\$50,750.00	\$780.00	\$113,100.00
66 502-0050	40 L.F.	15 in Reinforced Concrete Pipe, Class IV	\$205.00	\$8,200.00	\$450.00	\$18,000.00	\$95.00	\$3,800.00	\$200.00	\$8,000.00	\$550.00	\$22,000.00
67 502-N0024	976 L.F.	38in x 60in Reinforced Elliptical Concrete Pipe, Class III	\$450.00	\$439,200.00	\$625.00	\$610,000.00	\$570.00	\$556,320.00	\$305.00	\$297,680.00	\$700.00	\$683,200.00
68 502-N0028	96 L.F.	14in x 23in Reinforced Concrete Elliptical Pipe, Class HE - III	\$250.00	\$24,000.00	\$260.00	\$24,960.00	\$180.00	\$17,280.00	\$120.00	\$11,520.00	\$170.00	\$16,320.00
69 502-N0038	20 L.F.	34in x 53in Reinforced Elliptical Concrete Pipe, Class III	\$950.00	\$19,000.00	\$540.00	\$10,800.00	\$525.00	\$10,500.00	\$290.00	\$5,800.00	\$700.00	\$14,000.00
70 503-0001	1 Each	Inlet, Type D3	\$7,600.00	\$7,600.00	\$18,150.00	\$18,150.00	\$4,800.00	\$4,800.00	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00
71 503-0003	9 Each	Inlet, Type D2	\$8,200.00	\$73,800.00	\$9,350.00	\$84,150.00	\$9,800.00	\$88,200.00	\$5,300.00	\$47,700.00	\$10,000.00	\$90,000.00
72 503-0009	2 Each	Reconstructed Inlet, Type D1, Using Existing Grate and Frame	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	\$2,700.00	\$5,400.00	\$3,800.00	\$7,600.00	\$5,000.00	\$10,000.00
73 503-0023	4 Each	Reconstructed Inlet, Type D3, Using Existing Grate And Frame	\$4,000.00	\$16,000.00	\$5,000.00	\$20,000.00	\$3,000.00	\$12,000.00	\$4,500.00	\$18,000.00	\$5,000.00	\$20,000.00
74 503-0032	2 Each	Reconstructed Manhole, Type P-1, Using Existing Cover And Frame	\$2,000.00	\$4,000.00	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00	\$4,600.00	\$9,200.00	\$5,000.00	\$10,000.00
75 503-0039	1 Each	Inlet, Type D2 SP-1	\$16,000.00	\$16,000.00	\$23,500.00	\$23,500.00	\$20,000.00	\$20,000.00	\$17,000.00	\$17,000.00	\$22,000.00	\$22,000.00
76 503-0040	3 Each	Inlet, Type D2 SP-2	\$18,000.00	\$54,000.00	\$26,500.00	\$79,500.00	\$25,000.00	\$75,000.00	\$21,000.00	\$63,000.00	\$28,000.00	\$84,000.00
77 503-0041	2 Each	Manhole, Type P2 SP-1	\$18,000.00	\$36,000.00	\$22,000.00	\$44,000.00	\$25,000.00	\$50,000.00	\$22,500.00	\$45,000.00	\$30,000.00	\$60,000.00
78 503-0050	3 Each	Manhole, Type P2 SP-2	\$12,000.00	\$36,000.00	\$25,000.00	\$75,000.00	\$25,000.00	\$75,000.00	\$17,000.00	\$51,000.00	\$27,000.00	\$81,000.00
79 503-0051	1 Each	Reconstructed Manhole, Type A, Using Existing Cover and Frame	\$4,000.00	\$4,000.00	\$6,600.00	\$6,600.00	\$2,000.00	\$2,000.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
80 503-N0024	1 Each	Manhole, 6ft Diameter	\$19,000.00	\$19,000.00	\$16,000.00	\$16,000.00	\$14,000.00	\$14,000.00	\$11,000.00	\$11,000.00	\$20,000.00	\$20,000.00
81 503-N0031	2 Each	Drainage Box	\$60,000.00	\$120,000.00	\$60,000.00	\$120,000.00	\$50,000.00	\$100,000.00	\$40,000.00	\$80,000.00	\$55,000.00	\$110,000.00
82 504-0011	84 C.Y.	Incidental Concrete	\$1,700.00	\$142,800.00	\$1,750.00	\$147,000.00	\$850.00	\$71,400.00	\$950.00	\$79,800.00	\$1,200.00	\$100,800.00
83 505-0001	25 L.F.	Asphalt Concrete Lip Curb	\$22.00	\$550.00	\$25.00	\$625.00	\$100.00	\$2,500.00	\$45.00	\$1,125.00	\$20.00	\$500.00
84 506-0001	80 L.F.	Concrete Curb, Type A	\$193.00	\$15,440.00	\$125.00	\$10,000.00	\$100.00	\$8,000.00	\$75.00	\$6,000.00	\$75.00	\$6,000.00
85 510-0008	75 L.F.	Reset Beam Guide Rail	\$17.00	\$1,275.00	\$25.00	\$1,875.00	\$20.00	\$1,500.00	\$17.00	\$1,275.00	\$16.00	\$1,200.00
86 510-0031 87 510-N0080	2,160.00 L.F. 2,846.00 L.F.	Removal of Beam Guide Rail Beam Guide Rail, Pre-Stained	\$11.00 \$39.00	\$23,760.00	\$12.00 \$60.00	\$25,920.00 \$170,760.00	\$12.00 \$42.00	\$25,920.00	\$11.00 \$37.00	\$23,760.00	\$10.00 \$36.00	\$21,600.00
88 510-N0082	2,846.00 L.F. 10 Each	Beam Guide Rail Anchorage, Pre-Stained	\$2,200.00	\$110,994.00 \$22,000.00	\$2,500.00	\$25,000.00	\$2,500.00	\$119,532.00 \$25,000.00	\$2,100.00	\$105,302.00 \$21,000.00	\$2,050.00	\$102,456.00 \$20,500.00
89 510-N0088	6 Each	Tangent Guide Rail Terminal, Pre-Stained	\$5,600.00	\$33,600.00	\$5,400.00	\$32,400.00	\$6,000.00	\$36,000.00	\$5,200.00	\$31,200.00	\$5,880.00	\$35,280.00
90 510-N0091	58 Each	Beam Guide Rail Post, 9ft Long, Pre-Stained	\$137.00	\$7,946.00	\$60.00	\$3,480.00	\$145.00	\$8,410.00	\$130.00	\$7,540.00	\$125.00	\$7,250.00
90 510-N0091 91 510-N0141	63 Each	Beam Guide Rail Post, 8 ft Long, Pre-Stained	\$137.00	\$7,623.00	\$37.50	\$2,362.50	\$130.00	\$8,410.00	\$130.00	\$7,560.00	\$123.00	\$6,930.00
92 511-0003	280 L.F.	Chain Link Fence, Type IV, 48 in High	\$44.00	\$12,320.00	\$62.50	\$17,500.00	\$48.00	\$13,440.00	\$42.00	\$11,760.00	\$45.00	\$12,600.00
93 511-0006	255 L.F.	Chain Link Fence, Type II, 72in High	\$49.00	\$12,495.00	\$70.00	\$17,850.00	\$52.00	\$13,260.00	\$46.00	\$11,730.00	\$50.00	\$12,750.00
94 517-0003	1 L.S.	Furnish Field Office, Type C	\$123,600.00	\$123,600.00	\$35,000.00	\$35,000.00	\$50,000.00	\$50,000.00	\$16,000.00	\$16,000.00	\$45,000.00	\$45,000.00
95 517-0009	23 Mnth	• ••	\$575.00	\$13,225.00	\$9,000.00	\$207,000.00	\$4,000.00	\$92,000.00	\$2,500.00	\$57,500.00	\$4,000.00	\$92,000.00
96 517-0013	100,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
97 522-0001	34 Each	Test Pits	\$1,000.00	\$34,000.00	\$2,000.00	\$68,000.00	\$1,000.00	\$34,000.00	\$500.00	\$17,000.00	\$1,540.00	\$52,360.00
98 523-0002	515 L.F.	Clean Existing Storm Drain, 24 in. to 48 in. Diameter	\$26.00	\$13,390.00	\$50.00	\$25,750.00	\$40.00	\$20,600.00	\$45.00	\$23,175.00	\$20.00	\$10,300.00
99 523-0003	130 L.F.	Clean Existing Storm Drain, 12 in. to 24 in. Diameter	\$34.00	\$4,420.00	\$35.00	\$4,550.00	\$30.00	\$3,900.00	\$31.00	\$4,030.00	\$25.00	\$3,250.00
100 523-0006	1,080.00 L.F.	Clean Existing Storm Drain, 48 In. To 60 In. Diameter	\$45.00	\$48,600.00	\$100.00	\$108,000.00	\$80.00	\$86,400.00	\$92.00	\$99,360.00	\$37.00	\$39,960.00
101 523-N0001	1,345.00 L.F.	Video Inspection of Pipes	\$5.00	\$6,725.00	\$20.00	\$26,900.00	\$16.00	\$21,520.00	\$18.00	\$24,210.00	\$6.00	\$8,070.00
102 532-0001	1,600,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$1,600,000.00	\$1.00	\$1,600,000.00	\$1.00	\$1,600,000.00	\$1.00	\$1,600,000.00	\$1.00	\$1,600,000.00
103 599-N0047	2,200,000.00 USD	Polyurethane Grout (No-Bid)	\$1.00	\$2,200,000.00	\$1.00	\$2,200,000.00	\$1.00	\$2,200,000.00	\$1.00	\$2,200,000.00	\$1.00	\$2,200,000.00
104 599-N0053	1 Each	Inlet, Type D3 Modified	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$11,500.00	\$11,500.00	\$15,000.00	\$15,000.00
105 599-N0132	300,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$1.00	\$300,000.00	\$1.00	\$300,000.00	\$1.00	\$300,000.00	\$1.00	\$300,000.00	\$1.00	\$300,000.00
106 599-N0235	70 L.F.	15 in High Density Polypropylene Pipe	\$375.00	\$26,250.00	\$400.00	\$28,000.00	\$90.00	\$6,300.00	\$150.00	\$10,500.00	\$400.00	\$28,000.00
107 599-N0259	1 L.S.	Utility Relocation, Electric (NJTA), Location No. 2	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00	\$80,000.00	\$80,000.00	\$180,000.00	\$180,000.00	\$150,000.00	\$150,000.00
108 599-N0260	1 L.S.	Utility Relocation, Sanitary Sewer (Borough of Paramus), Location No. 2	\$99,000.00	\$99,000.00	\$100,000.00	\$100,000.00	\$25,000.00	\$25,000.00	\$140,000.00	\$140,000.00	\$100,000.00	\$100,000.00
109 599-N0261	1 L.S.	Utility Relocation, Fiber Optic (Penta Communications), Location No. 2	\$1,770.00	\$1,770.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
111 603-0014	1 L.S.	Temporary Lighting Systems	\$42,000.00	\$42,000.00	\$50,000.00	\$50,000.00	\$80,000.00	\$80,000.00	\$40,000.00	\$40,000.00	\$75,000.00	\$75,000.00
112 703-0001	35,875.00 S.Y.	Topsoil	\$5.00	\$179,375.00	\$5.00	\$179,375.00	\$4.00	\$143,500.00	\$6.00	\$215,250.00	\$10.00	\$358,750.00
113 704-0001	27,940.00 S.Y.	Seeding, Type A	\$1.65	\$46,101.00	\$3.00	\$83,820.00	\$1.75	\$48,895.00	\$1.50	\$41,910.00	\$2.00	\$55,880.00
114 704-0003	5,440.00 S.Y.	Seeding, Type C	\$1.65	\$8,976.00	\$3.25	\$17,680.00	\$1.75	\$9,520.00	\$1.50	\$8,160.00	\$2.00	\$10,880.00
115 704-0004	2,085.00 S.Y.	Seeding, Type L	\$6.60	\$13,761.00	\$4.00	\$8,340.00	\$7.00	\$14,595.00	\$6.00	\$12,510.00	\$6.00	\$12,510.00
116 704-0005	800 S.Y.	Seeding, Type W	\$5.50	\$4,400.00	\$5.00	\$4,000.00	\$7.00	\$5,600.00	\$5.00	\$4,000.00	\$4.00	\$3,200.00
117 704-0014	8,707.00 S.Y.	Seeding, Type R	\$1.65	\$14,366.55	\$3.25	\$28,297.75	\$1.75	\$15,237.25	\$2.00	\$17,414.00	\$2.00	\$17,414.00
118 705-0007	20 Each	Planting, Red Maple (Acer Rubrum)	\$820.00	\$16,400.00	\$750.00	\$15,000.00	\$865.00	\$17,300.00	\$750.00	\$15,000.00	\$750.00	\$15,000.00
119 705-0010	20 Each	Planting, Black Cherry (Prunus Serotina)	\$820.00	\$16,400.00	\$750.00	\$15,000.00	\$865.00	\$17,300.00	\$750.00	\$15,000.00	\$750.00	\$15,000.00
120 705-0042	30 Each	Planting, Coniferous	\$820.00	\$24,600.00	\$650.00	\$19,500.00	\$865.00	\$25,950.00	\$750.00	\$22,500.00	\$750.00	\$22,500.00
121 705-N0002	1 L.S.	Plant Establishment and Maintenance Period	\$3,000.00	\$3,000.00	\$20,000.00	\$20,000.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00

		BaseLine Item Detail	Carbro Const	tructors Corp.	J. Fletcher Cre	eamer & Son, Inc.	New Prince Concrete	Construction Co., Inc.	Sparwick Co	ntracting, Inc.	Joseph M.	. Sanzari, Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
122 706-0001	2,965.00 S.Y.	Permanent Soil Stabilization Matting	\$6.00	\$17,790.00	\$7.25	\$21,496.25	\$6.00	\$17,790.00	\$5.00	\$14,825.00	\$5.00	\$14,825.00
123 706-0002	2,752.00 S.Y.	Temporary Soil Stabilization Matting	\$5.00	\$13,760.00	\$4.25	\$11,696.00	\$4.50	\$12,384.00	\$4.00	\$11,008.00	\$4.00	\$11,008.00
124 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$456,800.00	\$456,800.00	\$150,000.00	\$150,000.00	\$1,000,000.00	\$1,000,000.00	\$800,000.00	\$800,000.00	\$450,000.00	\$450,000.00
125 801-0002	8,140.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$20.00	\$162,800.00	\$27.50	\$223,850.00	\$10.00	\$81,400.00	\$20.00	\$162,800.00	\$40.00	\$325,600.00
126 801-0003	8,240.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$44.13	\$363,631.20	\$56.00	\$461,440.00	\$80.00	\$659,200.00	\$45.00	\$370,800.00	\$40.00	\$329,600.00
127 801-0007	2,000.00 M.H.	Traffic Protection Patrol, Part-Time	\$2.00	\$4,000.00	\$65.00	\$130,000.00	\$135.00	\$270,000.00	\$53.00	\$106,000.00	\$100.00	\$200,000.00
128 801-0009	8 Each	Furnishing Portable Variable Message Sign	\$500.00	\$4,000.00	\$3,750.00	\$30,000.00	\$5,000.00	\$40,000.00	\$1,500.00	\$12,000.00	\$3,000.00	\$24,000.00
129 801-0013	10 Each	Furnishing Truck with Mounted Attenuator	\$1,000.00	\$10,000.00	\$6,000.00	\$60,000.00	\$5,000.00	\$50,000.00	\$10,000.00	\$100,000.00	\$15,000.00	\$150,000.00
130 801-0015	7 Each	Repair Truck Mounted Impact Attenuators	\$1.00	\$7.00	\$10,000.00	\$70,000.00	\$1.00	\$7.00	\$1,000.00	\$7,000.00	\$30,000.00	\$210,000.00
131 801-0020	2 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$400.00	\$800.00	\$8,000.00	\$16,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,730.00	\$3,460.00
132 801-0022	17 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$3,500.00	\$59,500.00	\$8,000.00	\$136,000.00	\$7,500.00	\$127,500.00	\$5,000.00	\$85,000.00	\$1,740.00	\$29,580.00
133 801-0023	50 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$10.00	\$500.00	\$3,250.00	\$162,500.00	\$1.00	\$50.00	\$1,500.00	\$75,000.00	\$7,500.00	\$375,000.00
134 801-0042	16 Each	Furnishing Temporary Impact Attenuator (Cartridge), TL-3, 24 Inch Wide	\$7,500.00	\$120,000.00	\$9,000.00	\$144,000.00	\$1.00	\$16.00	\$5,000.00	\$80,000.00	\$12,000.00	\$192,000.00
135 801-0043	2 Each	Furnishing Temporary Impact Attenuator (Array), TL-3	\$7,300.00	\$14,600.00	\$14,000.00	\$28,000.00	\$10,000.00	\$20,000.00	\$7,400.00	\$14,800.00	\$13,200.00	\$26,400.00
136 801-0044	2 Each	Placing and Removing Temporary Impact Attenuator (Array), TL-3	\$5,000.00	\$10,000.00	\$5,750.00	\$11,500.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	\$3,980.00	\$7,960.00
137 801-N0021	750,000.00 USD	Force Account for Maintenance and Protection of Traffic (No-Bid)	\$1.00	\$750,000.00	\$1.00	\$750,000.00	\$1.00	\$750,000.00	\$1.00	\$750,000.00	\$1.00	\$750,000.00
138 803-0032	25,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
139 803-N0006	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways, Location No. 2	\$175,238.00	\$175,238.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00
				\$17,327,399.75		\$17,942,472.50	1	\$19,816,556.25		\$19,937,529.00		\$19,992,279.00

11.50 11.5			BaseLine Item Detail	Spiniello C	Companies	D'Annunzio	& Sons, Inc.	Montana Constr	uction Corp Inc.
2.00 0.000	Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
1 1 1 1 1 1 1 1 1 1	1 104-0001	1 L.S.	Construction Layout	\$90,000.00	\$90,000.00	\$400,000.00	\$400,000.00	\$125,000.00	\$125,000.00
1 1 1 1 1 1 1 1 1 1	2 104-0002	1 L.S.	Mobilization	\$200,000.00	\$200,000.00	\$1,100,000.00	\$1,100,000.00	\$700,000.00	\$700,000.00
5 15 18 18 18 18 18 18	3 107-0001	1 L.S.	Progress Schedule	\$21,000.00	\$21,000.00	\$25,000.00		\$25,000.00	\$25,000.00
6 01 0000	4 108-0001	8,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00
Control Cont	5 108-N0004	8,000.00 USD			\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00
P. 20 00000	6 201-0002							\$555,697.00	\$555,697.00
8 1200007									\$543,830.00
907-9009 7007-0009 7007-	8 202-0007	4,000.00 C.Y.				•	\$40,000.00	· ·	\$100,000.00
1003-0001	9 202-0009	·	Environmental Testing for Unsuitable and Excess Materials (No-Bid)						\$200,000.00
1703-0004		•							\$348,975.00
12 12 13 14 10 10 10 11 13 13 13 13		•	•						\$6,624.00
13 205-0002						1			\$343,000.00
14 207-0004 10 Ton Riphay Stone Aprons, 17th Thick(DS0-Elm) \$800.00 \$800.00 \$15.00 \$15.00 \$75.0			•	•		•		•	\$975.00
15 207-0005									\$2,750.00
16 207-N40008						•		· ·	\$72,875.00
17 207-N0014									\$22,000.00
18 208-0006 30 C.Y. Hay Balles \$200.00 \$8,700.00 \$155.00 \$4,950.00 \$40.00 \$51.90 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$52.00 \$65.00 \$53.00 \$65.00 \$53.00 \$65.00 \$53.00 \$65.00 \$53.00 \$65.00 \$									\$9,000.00
19 208-0008 8,0000 LF Heavy Dury Siff Fence \$13.00 \$115,700.00 \$8.50 \$75,650.00 \$6.00 \$53.00 \$2.00 \$			•					· ·	\$1,200.00
20 208-0013			•						\$53,400.00
21 208-0024 2.085.00 Ton Construction Driveway \$140.00 \$291,000 \$90.00 \$187,650.00 \$51.00 \$135.00						•			\$1,350.00
22 28 28 0024 2,085.00 To Construction Driveway \$14.00 \$2291,900.00 \$90.00 \$187,650.00 \$51.50 \$13.50 \$1.50 \$1.35 \$2.20 \$1.00 \$2.20 \$1.00 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20 \$1.20 \$2.20			,						\$8,200.00
23 208-N0001 9 Each Concrete Washout Facility S3,200.00 S38,800.00 S15,000 S15,000 S13,000 S13,000 S12,000.00 S15,000.00 S15			* **			· ·		· ·	\$135,525.00
24 208-N0009 32 Each Sediment Control Bags S17000 S5,440.00 S10.00 S1,200.00 S15.00 S4, 25 208-N0009 10 Each Oil-Only Emergency Spill Kit, Type 1 S10.00 S1,100.00 S1,100.00 S1,200.00 S10.00 S1,000.00 S10.00 S1,000.00 S10.00 S1,000.00 S1,0			•						\$13,500.00
25 208-N0009			·						\$4,800.00
26 209-N0016 1 L.S. Stream Diversion - Location No. 1 \$41,000.00 \$60,000.00 \$60,000.00 \$150,00			•	•		•		•	\$10.00
27 208-N0017 1 L.S. Stream Diversion - Location No. 2 \$40,000.00 \$50,000.00 \$50,000.00 \$75,000.00 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>•</td> <td>\$150,000.00</td>								•	\$150,000.00
28 208-N0018 1 L.S. Stream Diversion - Location No. 3 \$41,000.00 \$41,000.00 \$65,000.00 \$75,000.00 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$75,000.00</td>									\$75,000.00
29 208-N0019 1 L.S. Stream Diversion - Location No. 4 \$41,000.00 \$41,000.00 \$70,000.00 \$75,000.00 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$75,000.00</td>									\$75,000.00
30 208-N0023									\$75,000.00
31 211-0001 4,010.00 L.F. Temporary Orange Plastic Fence \$4.00 \$16,040.00 \$10.00 \$40,100.00 \$6.00 \$24, 32 211-N0001 1,340.00 L.F. Turtle Fence \$10.00 \$13,400.00 \$8.65 \$11,591.00 \$45.00 \$60.00 \$23, 321-0002 \$2,791.00 \$10.00 \$86.00 \$223,280.00 \$75.00 \$203,380.00 \$223,280.00 \$75.00 \$203,380.00 \$223,280.00 \$75.00 \$203,380.00 \$223,280.00 \$75.00 \$203,380.00 \$223,280.00 \$75.00 \$203,380.00 \$223,280.00 \$75.00 \$203,380.00 \$223,280.00 \$10.00 \$80,000.00 \$10.00 \$639,990.00 \$125.00 \$444 \$35,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$80,000.00 \$10.00 \$10.00 \$10.00				· ·					
32 211-N0001 1,340.00 L.F. Turtle Fence \$10.00 \$13,400.00 \$8.65 \$11,591.00 \$45.00 \$60,33 33 213-0002 2,791.00 Ton Disposal of Regulated Material \$77.00 \$214,907.00 \$80.00 \$223,280.00 \$75.00 \$209,300.00 34 302-0004 3,555.00 Ton Hot Mix Asphalt 25M64 Base Course \$260.00 \$924,300.00 \$180.00 \$639,900.00 \$15.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$88,000.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00									\$75,000.00
33 213-0002 2,791.00 Ton Disposal of Regulated Material \$77.00 \$214,907.00 \$80.00 \$223,280.00 \$75.00 \$209,34 302-0004 34 302-0004 3,555.00 Ton Hot Mix Asphalt ZSM64 Base Course \$260.00 \$224,300.00 \$180.00 \$639,900.00 \$125.00 \$444,35 302-0063 35 302-0063 8,000.00 USD Asphalt Price Adjustment (No-Bid) \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.40,000.00 <		•		·		· · · · · · · · · · · · · · · · · · ·			\$24,060.00
34 302-0004 3,555.00 Ton Hot Mix Asphalt 25M64 Base Course \$260.00 \$924,300.00 \$180.00 \$639,900.00 \$125.00 \$444,35 35 302-0063 8,000.00 USD Asphalt Price Adjustment (No-Bid) \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8 36 302-N0007 585 GAL Trackless Tack Coat \$7.00 \$4,095.00 \$25.00 \$14,625.00 \$1.00 \$8 37 303-0001 1,620.00 S.Y. Berm Surfacing, 3 Inches Thick \$13.00 \$21,060.00 \$97,200.00 \$35.00 \$56 38 401-0012 39 C.Y. Concrete in Wingwall \$4,100.00 \$159,900.00 \$4,000.00 \$156,000.00 \$1,800.00 \$57 39 401-0032 20 C.Y. Concrete in Footings \$7,800.00 \$15,600.00 \$10,000.00 \$20,000.00 \$1,200.00 \$24 40 401-0035 577 Each Drill and Grout Reinforcement Bars \$200.00 \$115,400.00 \$50.00 \$34,620.00 \$80.00 \$44 41 401-0067 3,880.00 LB Reinforcement Steel, Epoxy Coated \$1.00 \$3,880		•				•			\$60,300.00
35 302-063 8,000.00 USD Asphalt Price Adjustment (No-Bid) \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00 \$8,000.00 \$1.00		•							\$209,325.00
36 302-N0007 585 GAL Trackless Tack Coat \$7.00 \$4,095.00 \$25.00 \$14,625.00 \$1.00 \$3.00 \$3.00 \$3.00 \$1.00 \$2.00 \$2.00 \$9.00 \$3.00 \$3.00 \$3.00 \$2.00 \$2.00 \$3.00		•	·						\$444,375.00
37 303-0001 1,620.00 S.Y. Berm Surfacing, 3 Inches Thick \$13.00 \$21,060.00 \$60.00 \$97,200.00 \$35.00 \$56,038 401-0012 39 C.Y. Concrete in Wingwall \$4,100.00 \$159,900.00 \$4,000.00 \$156,000.00 \$1,800.00 \$70,000.00 \$24,000.00 \$1,800.00 \$70,000.00 \$24,000.00 \$1,800.00 \$70,000.00 \$24,000.00 \$1,800.00 \$1,200.00 \$24,000.00 \$24,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$1,200.00 \$24,000.00 \$1,200.00 \$24,000.00 \$1,200.00 \$24,000.00 \$1,200.00 \$24,000.00 \$24,000.00 \$1,200.00 \$1,200.00 \$24,000.00 \$24,000.00 \$30,800.00 \$1,000.00 \$30,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$2		•		•				•	\$8,000.00
38 401-0012 39 C.Y. Concrete in Wingwall \$4,100.00 \$159,900.00 \$4,000.00 \$156,000.00 \$1,800.00 \$70,000.00 \$20,000.00 \$1,800.00 \$70,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$24,000.00 \$1,200.00 \$24,000.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$20,000.00 \$1,200.00 \$24,000.00 \$20,000									\$585.00
39 401-032 20 C.Y. Concrete In Footings \$7,800.00 \$156,000.00 \$1,000.00 \$20,000.00 \$1,200.00 \$24,401-000 \$20,000 \$115,400.00 \$34,620.00 \$80.00 \$46,200.00 \$46,200.00 \$40,000		•	5						\$56,700.00
40 401-0035 577 Each Drill and Grout Reinforcement Bars \$200.00 \$115,400.00 \$60.00 \$34,620.00 \$80.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,620.00 \$46,00 \$15,600.00 \$50.00									\$70,200.00
41 401-0067 3,880.00 LB Reinforcement Steel, Epoxy Coated \$1.00 \$3,880.00 \$5.00 \$19,400.00 \$4.00 \$15,00 42 401-N0005 6,368.00 C.F. Grout \$28.00 \$178,304.00 \$35.00 \$222,880.00 \$250.00 \$1,592,00 43 410-0001 220 S.Y. Damp-proofing \$49.00 \$10,780.00 \$32.00 \$7,040.00 \$75.00 \$16,00 44 415-0001 4,385.00 S.F. Temporary Sheeting \$82.00 \$359,570.00 \$1.00 \$43,850.00 \$175.00 \$767,00 45 417-0013 76 S.F. Spall Repair, Type 1 \$210.00 \$15,960.00 \$400.00 \$30,400.00 \$135.00 \$10,00 46 418-N0093 1 L.S. Temporary Support, Location No. 1 \$25,000.00 \$25,000.00 \$5,000.00 \$5,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$25,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$25,000.00 \$25,000.00 \$5,000.00 \$5,000.00 \$25,000.00 \$25,000.00 \$25,000.00 \$25,000.00 \$25,000.00 \$25,000.00 \$25,000.00 \$25,000.00 \$25,000.0			-						\$24,000.00
42 401-N0005 6,368.00 C.F. Grout \$28.00 \$178,304.00 \$35.00 \$222,880.00 \$250.00 \$1,592,43 43 410-0001 220 S.Y. Damp-proofing \$49.00 \$10,780.00 \$32.00 \$7,040.00 \$75.00 \$16,44 44 415-0001 4,385.00 S.F. Temporary Sheeting \$82.00 \$359,570.00 \$1.00 \$4,385.00 \$175.00 \$767,40.00 45 417-0013 76 S.F. Spall Repair, Type 1 \$210.00 \$15,960.00 \$400.00 \$30,400.00 \$135.00 \$10,400.00 46 418-N0093 1 L.S. Temporary Support, Location No. 1 \$25,000.00 \$25,000.00 \$5,000.00 \$5,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$25,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$25,000.00 <td< td=""><td></td><td></td><td></td><td></td><td></td><td>•</td><td></td><td></td><td>\$46,160.00</td></td<>						•			\$46,160.00
43 410-0001 220 S.Y. Damp-proofing \$49.00 \$10,780.00 \$32.00 \$7,040.00 \$75.00 \$16,44 415-0001 \$4,385.00 S.F. Temporary Sheeting \$82.00 \$359,570.00 \$1.00 \$4,385.00 \$175.00 \$767,445.00 \$4,385.00 \$175.00 \$767,445.00 \$10,780.00 \$1.00 \$4,385.00 \$175.00 \$767,445.00 \$10,780.00 \$10									\$15,520.00
44 415-0001 4,385.00 S.F. Temporary Sheeting \$82.00 \$359,570.00 \$1.00 \$4,385.00 \$175.00 \$767,457.00 45 417-0013 76 S.F. Spall Repair, Type 1 \$210.00 \$15,960.00 \$400.00 \$30,400.00 \$135.00 \$10,000 46 418-N0093 1 L.S. Temporary Support, Location No. 1 \$25,000.00 \$5,000.00 \$5,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$25,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$25,000.00 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$1,592,000.00</td>									\$1,592,000.00
45 417-0013 76 S.F. Spall Repair, Type 1 \$210.00 \$15,960.00 \$400.00 \$30,400.00 \$135.00 \$10,400.00 <td></td> <td></td> <td>• • •</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$16,500.00</td>			• • •						\$16,500.00
46 418-N0093 1 L.S. Temporary Support, Location No. 1 \$25,000.00 \$25,000.00 \$5,000.00 \$60,000.									\$767,375.00
47 418-N0095 1 L.S. Temporary Support, Location No. 3 \$25,000.00 \$5,000.00 \$5,000.00 \$60,000.0									\$10,260.00
48 418-N0096 1 L.S. Temporary Support, Location No. 4 \$18,000.00 \$18,000.00 \$5,000.00 \$5,000.00 \$25,000.00 \$25,000.00									\$60,000.00
									\$60,000.00
49 418-N0120 1 L.S. Temporary Support, Location No. 5 518.000.00 \$18.000.00 \$5.000.00 \$5.000.00 \$75.000.00 \$75.000.00									\$25,000.00
									\$25,000.00
			•						\$2,700,000.00
			•						\$3,240,000.00
			•						\$1,020,000.00
									\$570,000.00
		·							\$650,000.00
									\$265,000.00
			•						\$1,104,000.00
									\$335,000.00
			• '						\$38,925.00
			·						\$49,500.00
60 502-0011		10 I F	30 in Reinforced Concrete Pine. Class III	5400.00	54.000.00	S250.00	S2.500.00	S375.00	\$3,750.00

		BaseLine Item Detail	Spiniello C	Companies	D'Annunzio	& Sons, Inc.	Montana Constr	uction Corp Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
61 502-0012	20 L.F.	36 in Reinforced Concrete Pipe, Class III	\$290.00	\$5,800.00	\$350.00	\$7,000.00	\$400.00	\$8,000.00
62 502-0013	656 L.F.	48 in Reinforced Concrete Pipe, Class III	\$500.00	\$328,000.00	\$340.00	\$223,040.00	\$550.00	\$360,800.00
63 502-0014	176 L.F.	18 In Reinforced Concrete Pipe, Class V	\$230.00	\$40,480.00	\$200.00	\$35,200.00	\$225.00	\$39,600.00
64 502-0028	130 L.F.	42 In Reinforced Concrete Pipe, Class III	\$460.00	\$59,800.00	\$320.00	\$41,600.00	\$550.00	\$71,500.00
65 502-0036	145 L.F.	54 in Reinforced Concrete Pipe, Class III	\$600.00	\$87,000.00	\$360.00	\$52,200.00	\$650.00	\$94,250.00
66 502-0050	40 L.F.	15 in Reinforced Concrete Pipe, Class IV	\$190.00	\$7,600.00	\$500.00	\$20,000.00	\$225.00	\$9,000.00
67 502-N0024	976 L.F.	38in x 60in Reinforced Elliptical Concrete Pipe, Class III	\$420.00	\$409,920.00	\$400.00	\$390,400.00	\$900.00	\$878,400.00
68 502-N0028	96 L.F.	14in x 23in Reinforced Concrete Elliptical Pipe, Class HE - III	\$370.00	\$35,520.00	\$250.00	\$24,000.00	\$400.00	\$38,400.00
69 502-N0038	20 L.F.	34in x 53in Reinforced Elliptical Concrete Pipe, Class III	\$390.00	\$7,800.00	\$500.00	\$10,000.00	\$850.00	\$17,000.00
70 503-0001	1 Each	Inlet, Type D3	\$23,000.00	\$23,000.00	\$11,000.00	\$11,000.00	\$20,000.00	\$20,000.00
	9 Each	Inlet, Type D3						
71 503-0003 72 503-0009		• •	\$11,000.00	\$99,000.00	\$11,000.00	\$99,000.00	\$20,000.00	\$180,000.00 \$5,000.00
	2 Each	Reconstructed Inlet, Type D1, Using Existing Grate and Frame	\$6,600.00	\$13,200.00	\$3,000.00	\$6,000.00	\$2,500.00	
73 503-0023	4 Each	Reconstructed Inlet, Type D3, Using Existing Grate And Frame	\$8,300.00	\$33,200.00	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00
74 503-0032	2 Each	Reconstructed Manhole, Type P-1, Using Existing Cover And Frame	\$9,500.00	\$19,000.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00
75 503-0039	1 Each	Inlet, Type D2 SP-1	\$22,000.00	\$22,000.00	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00
76 503-0040	3 Each	Inlet, Type D2 SP-2	\$26,000.00	\$78,000.00	\$30,000.00	\$90,000.00	\$40,000.00	\$120,000.00
77 503-0041	2 Each	Manhole, Type P2 SP-1	\$32,000.00	\$64,000.00	\$30,000.00	\$60,000.00	\$14,000.00	\$28,000.00
78 503-0050	3 Each	Manhole, Type P2 SP-2	\$29,000.00	\$87,000.00	\$30,000.00	\$90,000.00	\$18,000.00	\$54,000.00
79 503-0051	1 Each	Reconstructed Manhole, Type A, Using Existing Cover and Frame	\$16,000.00	\$16,000.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00
80 503-N0024	1 Each	Manhole, 6ft Diameter	\$25,000.00	\$25,000.00	\$13,000.00	\$13,000.00	\$25,000.00	\$25,000.00
81 503-N0031	2 Each	Drainage Box	\$51,000.00	\$102,000.00	\$35,000.00	\$70,000.00	\$75,000.00	\$150,000.00
82 504-0011	84 C.Y.	Incidental Concrete	\$730.00	\$61,320.00	\$1,000.00	\$84,000.00	\$1,200.00	\$100,800.00
83 505-0001	25 L.F.	Asphalt Concrete Lip Curb	\$27.00	\$675.00	\$40.00	\$1,000.00	\$25.00	\$625.00
84 506-0001	80 L.F.	Concrete Curb, Type A	\$200.00	\$16,000.00	\$65.00	\$5,200.00	\$80.00	\$6,400.00
85 510-0008	75 L.F.	Reset Beam Guide Rail	\$21.00	\$1,575.00	\$17.00	\$1,275.00	\$22.00	\$1,650.00
86 510-0031	2,160.00 L.F.	Removal of Beam Guide Rail	\$13.00	\$28,080.00	\$11.00	\$23,760.00	\$12.00	\$25,920.00
87 510-N0080	2,846.00 L.F.	Beam Guide Rail, Pre-Stained	\$48.00	\$136,608.00	\$38.00	\$108,148.00	\$50.00	\$142,300.00
88 510-N0082	10 Each	Beam Guide Rail Anchorage, Pre-Stained	\$2,700.00	\$27,000.00	\$2,200.00	\$22,000.00	\$3,000.00	\$30,000.00
89 510-N0088	6 Each	Tangent Guide Rail Terminal, Pre-Stained	\$6,800.00	\$40,800.00	\$5,400.00	\$32,400.00	\$6,000.00	\$36,000.00
90 510-N0091	58 Each	Beam Guide Rail Post, 9ft Long, Pre-Stained	\$170.00	\$9,860.00	\$135.00	\$7,830.00	\$150.00	\$8,700.00
91 510-N0141	63 Each	Beam Guide Rail Post, 8 ft Long, Pre-Stained	\$150.00	\$9,450.00	\$117.00	\$7,371.00	\$125.00	\$7,875.00
92 511-0003	280 L.F.	Chain Link Fence, Type IV, 48 in High	\$69.00	\$19,320.00	\$50.00	\$14,000.00	\$125.00	\$35,000.00
93 511-0006	255 L.F.	Chain Link Fence, Type II, 72in High	\$86.00	\$21,930.00	\$56.00	\$14,280.00	\$130.00	\$33,150.00
94 517-0003	1 L.S.	Furnish Field Office, Type C	\$36,000.00	\$36,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00
95 517-0009		Maintain Field Office, Type C	\$3,600.00	\$82,800.00	\$4,825.00	\$110,975.00	\$2,500.00	\$57,500.00
96 517-0013	100,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
97 522-0001	34 Each	Test Pits	\$2,200.00	\$74,800.00	\$1,000.00	\$34,000.00	\$850.00	\$28,900.00
98 523-0002	515 L.F.	Clean Existing Storm Drain, 24 in. to 48 in. Diameter	\$64.00	\$32,960.00	\$35.00	\$18,025.00	\$20.00	\$10,300.00
99 523-0003	130 L.F.	Clean Existing Storm Drain, 12 in. to 24 in. Diameter	\$72.00	\$9,360.00	\$25.00	\$3,250.00	\$10.00	\$1,300.00
100 523-0006	1,080.00 L.F.	Clean Existing Storm Drain, 48 In. To 60 In. Diameter	\$140.00	\$151,200.00	\$100.00	\$108,000.00	\$20.00	\$21,600.00
101 523-N0001	1,345.00 L.F.	Video Inspection of Pipes	\$11.00	\$14,795.00	\$15.00	\$20,175.00	\$5.00	\$6,725.00
102 532-0001								
	1,600,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$1,600,000.00	\$1.00	\$1,600,000.00	\$1.00	\$1,600,000.00
	2,200,000.00 USD	Polyurethane Grout (No-Bid)	\$1.00	\$2,200,000.00	\$1.00	\$2,200,000.00	\$1.00	\$2,200,000.00
104 599-N0053	1 Each	Inlet, Type D3 Modified	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
105 599-N0132	300,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$1.00	\$300,000.00	\$1.00	\$300,000.00	\$1.00	\$300,000.00
106 599-N0235	70 L.F.	15 in High Density Polypropylene Pipe	\$300.00	\$21,000.00	\$430.00	\$30,100.00	\$230.00	\$16,100.00
107 599-N0259	1 L.S.	Utility Relocation, Electric (NJTA), Location No. 2	\$94,000.00	\$94,000.00	\$150,000.00	\$150,000.00	\$75,000.00	\$75,000.00
108 599-N0260	1 L.S.	Utility Relocation, Sanitary Sewer (Borough of Paramus), Location No. 2	\$95,000.00	\$95,000.00	\$90,000.00	\$90,000.00	\$40,000.00	\$40,000.00
109 599-N0261	1 L.S.	Utility Relocation, Fiber Optic (Penta Communications), Location No. 2	\$52,000.00	\$52,000.00	\$1,850.00	\$1,850.00	\$30,000.00	\$30,000.00
111 603-0014	1 L.S.	Temporary Lighting Systems	\$98,000.00	\$98,000.00	\$42,000.00	\$42,000.00	\$75,000.00	\$75,000.00
112 703-0001	35,875.00 S.Y.	Topsoil	\$5.00	\$179,375.00	\$7.00	\$251,125.00	\$5.00	\$179,375.00
113 704-0001	27,940.00 S.Y.	Seeding, Type A	\$2.00	\$55,880.00	\$1.65	\$46,101.00	\$3.00	\$83,820.00
114 704-0003	5,440.00 S.Y.	Seeding, Type C	\$2.00	\$10,880.00	\$1.65	\$8,976.00	\$3.50	\$19,040.00
115 704-0004	2,085.00 S.Y.	Seeding, Type L	\$8.00	\$16,680.00	\$6.50	\$13,552.50	\$4.00	\$8,340.00
116 704-0005	800 S.Y.	Seeding, Type W	\$7.00	\$5,600.00	\$5.50	\$4,400.00	\$4.50	\$3,600.00
117 704-0014	8,707.00 S.Y.	Seeding, Type R	\$2.00	\$17,414.00	\$1.60	\$13,931.20	\$3.00	\$26,121.00
118 705-0007	20 Each	Planting, Red Maple (Acer Rubrum)	\$990.00	\$19,800.00	\$800.00	\$16,000.00	\$725.00	\$14,500.00
119 705-0010	20 Each	Planting, Black Cherry (Prunus Serotina)	\$990.00	\$19,800.00	\$800.00	\$16,000.00	\$700.00	\$14,000.00
120 705-0042	30 Each	Planting, Coniferous	\$990.00	\$29,700.00	\$800.00	\$24,000.00	\$600.00	\$18,000.00
121 705-N0002	1 L.S.	Plant Establishment and Maintenance Period	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00	\$20,000.00	\$20,000.00
			-	•	•	•	•	•

		BaseLine Item Detail	Spiniello	Companies	D'Annunzio	& Sons, Inc.	Montana Cons	truction Corp Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
122 706-0001	2,965.00 S.Y.	Permanent Soil Stabilization Matting	\$7.00	\$20,755.00	\$6.00	\$17,790.00	\$7.00	\$20,755.00
123 706-0002	2,752.00 S.Y.	Temporary Soil Stabilization Matting	\$5.00	\$13,760.00	\$5.00	\$13,760.00	\$4.00	\$11,008.00
124 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$23,000.00	\$23,000.00	\$1,777,044.30	\$1,777,044.30	\$150,000.00	\$150,000.00
125 801-0002	8,140.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$14.00	\$113,960.00	\$25.00	\$203,500.00	\$80.00	\$651,200.00
126 801-0003	8,240.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$23.00	\$189,520.00	\$30.00	\$247,200.00	\$80.00	\$659,200.00
127 801-0007	2,000.00 M.H.	Traffic Protection Patrol, Part-Time	\$100.00	\$200,000.00	\$140.00	\$280,000.00	\$125.00	\$250,000.00
128 801-0009	8 Each	Furnishing Portable Variable Message Sign	\$6,600.00	\$52,800.00	\$20,000.00	\$160,000.00	\$25,000.00	\$200,000.00
129 801-0013	10 Each	Furnishing Truck with Mounted Attenuator	\$24,000.00	\$240,000.00	\$10,000.00	\$100,000.00	\$40,000.00	\$400,000.00
130 801-0015	7 Each	Repair Truck Mounted Impact Attenuators	\$8,300.00	\$58,100.00	\$10,500.00	\$73,500.00	\$7,500.00	\$52,500.00
131 801-0020	2 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$8,600.00	\$17,200.00	\$1,000.00	\$2,000.00	\$7,500.00	\$15,000.00
132 801-0022	17 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$4,200.00	\$71,400.00	\$11,200.00	\$190,400.00	\$35,000.00	\$595,000.00
133 801-0023	50 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$4,400.00	\$220,000.00	\$6,500.00	\$325,000.00	\$4,000.00	\$200,000.00
134 801-0042	16 Each	Furnishing Temporary Impact Attenuator (Cartridge), TL-3, 24 Inch Wide	\$37,000.00	\$592,000.00	\$35,000.00	\$560,000.00	\$15,000.00	\$240,000.00
135 801-0043	2 Each	Furnishing Temporary Impact Attenuator (Array), TL-3	\$8,600.00	\$17,200.00	\$6,700.00	\$13,400.00	\$27,000.00	\$54,000.00
136 801-0044	2 Each	Placing and Removing Temporary Impact Attenuator (Array), TL-3	\$4,200.00	\$8,400.00	\$6,700.00	\$13,400.00	\$40,000.00	\$80,000.00
137 801-N0021	750,000.00 USD	Force Account for Maintenance and Protection of Traffic (No-Bid)	\$1.00	\$750,000.00	\$1.00	\$750,000.00	\$1.00	\$750,000.00
138 803-0032	25,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
139 803-N0006	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways, Location No. 2	\$1,435,000.00	\$1,435,000.00	\$150,000.00	\$150,000.00	\$600,000.00	\$600,000.00
				\$21,173,597.00		\$21,697,000.00		\$29,769,000.00